Inorganic Chemistry 1
QUANTUM THEORY
DE BROGLIE’S THEORY

Problem-solving Example 21

Q) I a éﬁ'/‘;cqcﬁdh cX/e«rr'/henf/ o elecHron was accelerated wif

a L'oeﬁ'c “‘(]J o/’ /0, oooe'/. Cq/(:u/aﬁ fhe wque/eryﬂ
O/ e efec Fom.

5) _Z/’,, ball which has aq mass of 20?7 and has fhe
Lamé wal/t/e:\77% as ’n (a), Cq/caé?/e /AC ,/,,ﬁay o/ Fhe équ_

Given = /el = 1602107 T m, = 9.//0x/0-3//57
A = 6-626x/073%;

Solution

School of Chemical Sciences, Universiti Sains Malaysia KTT 111 : Inorganic Chemistry 1



Solution :
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Or it takes 1.174 x 1012 years to travel / move a distance of 1 cm. So for the ball
to move a distance of 1 cm, it takes a few billions years - not practical in our

experience. Thus it is NOT possible by us to assume the ball has wave property.
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